E 0 & AHE E A A

ERAAL A
St MM SS
ST E (54 S A S D) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FAIE A 24,660,110 26,118,623 1,458,513
= 3,027,000
Jl 415,502
= 993,900
Al 20,223,708
ol NI MEES 317,010 373,005 A\B5,995
St MR ES (S ALY SE3IH) 317,010 373,005 155,99
St IS 170,300 170,300 0
201 Ler23 | 155,500 185,500 0
01 At2t2ltl 122,290 122,290 0
OSIILEEH 24 HBA =8
9,000,000 *14! 9,000
O3JIHEEIHEZ I HOIH EF ME
2,500,0002 %14 2,500
OHT oI & M2 (0laH, 24 BHEI S)
8,000,000 8,000
Odt=ZAIER 1A 258 ST M
200,000 *52 A 1,000
Odte 2= 23 - RFuE g gis
800,000 * 12 9,600
OBI+=EAIRE MBIIC Ue 248
10,000,000 *1.5% 150
O3 HA2L 3 (Gt AER = =
+=2) 4,602,000,000& *2% 92,040
02 S3=gl 33,210 33,210 0
OLNANES 2ERS(2E
4003 +200S 122 960
OLNMES 2E2S(SII)
1,9302x60S*12& 1,390
O3JIESEe/H 208 FXl2eld
4,360,000 64 26,160
Ozgxi2el =28 |Xl2telt]
4,000,000 4,000
OSIILELE3H RIIZH2LANAL R
2t/ 700,000 *14] 700
202 04l 4,800 4,800
01 =LHA LI 4,800 4,800
Odt=AIEE Rt - 2t SH0|
20,0002 x2EH*102* 122 4,800
802 gret=JIEt 10,000 10,000
03 Jletetets s 10,000 10,000
OUdEx Sl AlEE U2Y= Etet
10,000,000& 10,000
OiIH1H] 146,710 202,705 55,99
801 OflHIH 146,710 202,705 A\55,99%

1 2etoldll 120,670 202,705 ~82,035
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FA EEAEA
B 22| EAlLSY
ol LRBIATRIAAE 29 (GAEAY SE3IH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,067,200 1,193,520 136,320
01 At2teltl 40,000 60,320 220,320
023 =&y X 2,500,00021 102! 25,000
OAZ Sl HBAA 222
3,000,000 %14 3,000
O4BEZII(MS) FEAAF 242
6,000,000& 12 6,000
OsdXHelAlE 2eltid dol9ias A
=g 100,000 x5 & »23] 1,000
Odtxicl2d det+=SH| 5,000
02 S3=gHl 1,017,200 1,133,200 116,000
OgeMeE MRS (SMEMLIAE E&
) 50,000,000& «12& 600,000
OUDI20F B2y Baz
1,000,000 %14 1,000
OBBRB(SH - Y4523 S)
300,000 x 12 3,600
OAI2EbBI= X 399,000
-EHRXNeE AEEHIS
100,000,000 *14] 100,000
- ot==ddAl MeldlE
155,0002!*1,000& 155,000
LRSI ARRIE OEE
7,000,000& 22 14,000
S4E XMclAlE S|
50,000,000 * 14 50,000
SAESF HYIZ Xceldl
200,000 *300= 60,000
&I|14H| =X 20,000,000 *14! 20,000
OXtgdl(sdX2E XS (S, UE)) 13,600
- At == 225,000 «2CH =12 5,400
ek A== 200,000 x2CH 63 2,400
- A& EFOIO m Al 2,200,000 *2CH 4,400
A 3323 ¥ 288
700,000 *2CH*12] 1,400
206 M=l 20,000 544,645 N\524,645
01 MHZH| 20,000 544,645 N\b24,645
O=ZE=FII(MS) {AIEs Xt (PH, dIA S)
5,000,000& 42| 20,000
207 ARl 20,000 16,110 3,890
01 Sl 20,000 0 20,000
Oggot=seiXIXelAld 2eltid 23
o 3 RIE EY 0,000,000 *14] 20,000
307 212+01& 1,972,249 1,972,249
05 2ItRIE = 1,972,249 1,972,249




FA EEAEA
B 22| EAlLSY
ol LRBIATRIAAE 29 (GAEAY SE3IH) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogd, 28, dgot=xcly =& S 2|
CHe 156,361,000 » 1= 156,361
Os=dXHMelAlE 2telthet
151,324,000 ~ 128 1,815,888
308 AFAIEHMSOIE 5,879 15,341 A9,462
07 AXeH2ZFE= 5.879 15,341 A9,462
OSAlE XMelAd 882 Me R5=3
15&1%120,000kg*1.0592] 1,907
OLRs4+H2T RY B8RS HELLS
253 150,000kg*1.0598] 3,972
401 AlZHIZ S OHYI 840,000 280,000 560,000
01 A28l 840,000 260,000 580,000
OUSESEI Wl SAH
50,000, 0002 *3CH 150,000
O2dE=)| 2HE SA
50,000,000& *13] 50,000
OS2 Wl WHSA
10,000, 0002 =4CH 40,000
Os3)14 oM L ti2S3At 250,000
s34 8 95,000, 0002 =2CH 190,000
S3J| A & ZX 23 A
60,000,000& » 14 60,000
OWwa=J| & WAl 100,000,000 1CH 100,000
OEadtl €M wM SAt
50,000,000& * 14! 50,000
O=d =+ 2ZSA
40,000,000 #5002 200,000
405 AtatE = 26,000 105,000 AT79,000
01 ML ESFSHI 26,000 105,000 79,000
Oast: RIIA & &2l SEIH 7Y 15,000
FIl& SZEH 14,000, 0002 1CH 14,000
22l SE I 1,000,000 1CH 1,000
Oslgds T2 1d4E HItEeAEH 7Y
2,000,000 *1CH 2,000
LRSI WL P (FIlA, S
M) 3,000,000 *3CH 9,000
HEESote, 2a, SA=HClAE 2|t 2,512,000 0 2,512,000
307 212+01& 2,512,000 0 2,512,000
05 2IR”tRIE = 2,512,000 0 2,512,000
OdEB3ote, 2, SASH2AE 22l
s 2,512,000,000& 1= 2,512,000
OrSot=XelAE 2 (at=TAY SE3IH) 4,339,675 4,248,551 91,124
= 334,000
7l 415,502
= 3,000
Al 3,587,173




FA EEAEA
B 22| ZAlLSY
T2 OISR SH(SIEEAIY S3|H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSot=HelAld 2 1,288,304 3,648,551 A2,360,247
101 @124H| 30, 164 29,511 653
M ORNZZE2NSE S 30,164 29,511 653
OBBF3% HIHOIQEH KMAIE LA (5IH4) 17,5%
g2 80,002, e, S
157, 1002 x7H+8 2L +23] 17,59%6
ONSY 2E A RA(4HA) 12,568
22 Bl 8S, BE
157,100 x5 +8 2 +23] 12,568
201 er2 3| 692,440 573,840 118,600
01 AtR2te|HI 27,000 26,000 1,000
SXl ESEXE St
2,500,000 6 15,000
Oget=ZH] 2,000,000& 2,000
OZte|He HutEIt |As| Ease
200,000 x5 x2 2,000
O=Z ™ =AM
4,000,000 *12]+2JH 2= 8,000
02 S3=gHl 665,440 547,840 117,600
O3323(HII23) 365,200
=SS 400,000 27 2+ 12 129,600
g2 400,000 «35I A * 12 168,000
23,02 2,400,000& «2J4 2 x 122 57,600
O33as(s8ta3) 53,040
-HSH=A 60,0003 *27 4 2% 123 19,440
s 60,0003 »365J4 A+ 128 25,200
23,22 350,000 x20H A 123 8,400
OXtEHI(ANEEE) 5,200
=&l 300,000 *10H*12& 3,600
Atk =4H| 300,0002 *1CH*32] 900
HEg & 3382= 700,000 1CH 700
OAIZ2Z =X 252,000
Ssd=A 1,000,000 #2790 2 27,000
SRSEE e 1,000,000 357K 2 35,000
23,03 35,000,000 #2012 70,000
RS FUHNFH(2S,2E)
25,000,000 #20H 2 50,000
UWaREEY 89(28,24)
35,000,000 #2012 70,000
202 04| 11,200 11,200
01 =LHO LI 11,200 11,200
O=LHxHI 11,200
- A2 OSotHelAE B3 S0
20,0003 x22H*150 6,000
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SN BEAL
M SHAIZANE2SE
9l OISSHEHRlAlE 2(SEAY SEaH) (crel: &gl
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
UR 22 0F SIaHLAE 2 BH0
]l 20,0003 * 12 +260 5,200
206 M=l 10,000 10,000
01 M=4l 10,000 10,000
OJIAEH RAE+ A2F8 7
1,000,0002 %52 5,000
O&II&Hl RXE+ A2F 7Y
1,000,000& #52 5,000
401 AlZHIZL SO 544,500 980,000 435,500
01 Al&H| 544,500 980,000 435,500
OATE ot=xielZ(HY) Jd2
50,000,000 x 14 50,000
OLIE3Eot=HelANE NSEF+SAt
100,000,000 *1IH 2 100,000
OATD BHH2IF U QEL S oE
A AXl 20,000,000 #5012 100,000
OARE St=Held W wH
22,500,000 *6IH 2 135,000
Oan2 dt=Xcld =882 & 25) 1
| 5,000,000 6K 2= 30,000
O2R2 DISTHHHRIAIE IS
18,500,000 79K 2~ 129,500
A2 OlSot=XelAlE HEAIS 1,113,000 600,000 513,000
= 334,000
Al 779,000
401 AlZHIZ S OHbI 1,113,000 600,000 513,000
= 334,000
Al 779,000
01 AlZ8| 1,113,000 600,000 513,000
OLEXT sHE OtSot=E ZHIAIS
334,000,000 334,000
= 100,000
Al 234,000
OUIIXI= s0E OISdt=X HEAMY
779,000,000 779,000
= 234,000
Al 545,000
B30t AE 22IH(2S, 28, A2, SHEBE) 1,928,371 0 1,928,371
7l 415,502
Al 1,512,869
307 lztol & 1,928,371 0 1,928,371
Jl 415,502
Al 1,512,869
05 2IMRIE S 1,928,371 0 1,928,371
O3Zot=ZAld 22| (2S,218, 47
2.3H8T) 1,928,371,000& 1,928,371
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FA EEAEA
B 22| ZAlLSY
ol DISSIAMRIAA 29 (B4EAY SE31H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 415,502
Al 1,512,869
ANEZE tEEZH X2 A 10,000 0 10,000
= 3,000
Al 7,000
201 er2 3| 10,000 0 10,000
=S 3,000
Al 7,000
02 S3=gHl 10,000 0 10,000
O7A2 Fuodya(2s,28)
10,000,000 10,000
< 3,000
Al 7,000
ot==2tel 11,172,950 14,211,950 A3,039,000
= 2,693,000
= 990,900
Al 7,489,050
St=E8Hl & |A2el(t=EAE SE3IH) 2,259,950 2,359,950 100,000
ot=EdBIAEY & RAl2el 2,259,950 2,359,950 100,000
201 er23| 156,950 156,950 0
01 AtR2te|HI 35,000 356,000 0
os=e gxt 2,500,000« 14 35,000
02 s3=ghl 121,950 121,950 0
Oxtl (Gl R[XE=E 10H) 10,750
Nl 400,000& «1CH* 12 4,800
NE= SO il
500, 0002 *1CH* 102 5,000
EEE= 750,000 1CH 750
SAE E SERES
200,000 1CH 200
OsAHBLY ANEEHIRXAH
50,000,000& »14] 50,000
OSHEZY HIIR=s
5,000,000& ~12& 60,000
O33es(8tas 8)
100,000& «12& 1,200
202 04l 3,000 3,000
01 =LHA LI 3,000 3,000
O=UobI(Bi=LHIg 22 SZ0iH)
20,0003 x1&»150& 3,000
401 Al HIZ S OHbI 2,100,000 1,600,000 500,000
01 AlZ2H| 2,092,080 1,592,080 500,000
Odt===4(4,5t8H1)
300,000,000 *99.28% 297,840




A BEAMHR
B Sl
Cel BlATEE ¥ SXZR(GATAY SHa) (o) &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Odt==E 2828 300,000,000 *99. 28% 297,840
OATE Gt+22 HHIAFY (EtASEE X 72
) 500,000, 00024 <09, 28% 496,400
Osta2tz J|2zIc 500,000,000 14! 500,000
OARD 1S54RI GISBYT 25
500,000,000& *14] 500,000
03 A2 THYI 7,920 7,920 0
Odls== Z&(4, otetl)
300,000, 0002 *0.72% 2,160
Odt= 28 300,000,000 *0.72% 2,160
OARD G422 HHIAY(EAILEHT 7
) 500,000,000 +0.72% 3,600
St+=2t2ZUIAI (Bt AIY SE312) 8,913,000 11,852,000 2,939,000
= 2,693,000
[ 990,900
Al 5,229,100
geXel7S ole22 FHIAIY 703,000 1,089,000 A.386,000
= 492,000
Al 211,000
401 Al HIZL 01| 703,000 1,089,000 A.386,000
= 492,000
Al 211,000
01 AlZH| 698,572 1,085,080 386,508
Og@H™elRH dt==2t2 HUIALY
703,000,000 *99.37% 698,572
= 492,000
Al 206,572
03 A& CHYI 4,428 3,920 508
OE& el dt+2t2 HUlArY
4,428,000 4,428
Otg QIS+ ol=2t=Z ZHIAY 1,252,000 813,000 439,000
= 806,000
Al 446,000
401 AlEHIZ S 0HbI 1,252,000 813,000 439,000
= 806,000
Al 446,000
01 AlZHI 1,247,493 807,879 439,614
OO0tgeIZX 7 ote2t2 ZHIAIY
1,252,000,0002 *99. 64% 1,247,493
= 806,000
Al 441,493
03 A2 THYI 4,507 5,121 A614
OOIZQIZE X+ dt==2t2 HHIALY
4,507,000& 4,507
SRYPHAACR F=HOIS ol=22 FHIAS 3,267,000 868,000 2,399,000




FA EEAEA
B Sl
Cl: BIBR2EHIAY (B4 TAIY S8 (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 365,000
Al 2,912,000
401 AlEHIZL S0 3,267,000 868,000 2,399,000
= 365,000
Al 2,912,000
01 Al&H| 2,757,000 868,000 1,869,000
OUAABAIAEHR] FHOLS 51212 FY|
Ar& 2,757,000,000& 2,757,000
= 243,000
Al 2,514,000
02 2/l 500,000 0 500,000
OLAUBMACIT FHOIS B2 H|
Ard 500,000,000 500,000
= 112,000
Al 388,000
03 AIZ2THYI 10,000 0 10,000
LRYBARIT] EHOIS SRR
At 10,000,000 10,000
g8 SOHEOSol=T o222 FHIAIY 167,000 250,000 83,000
= 100,000
= 33,500
Al 33,500
401 Al HIZ S 0HbI 167,000 250,000 /83,000
= 100,000
= 33,500
Al 33,500
01 Al&H| 167,000 248,200 /81,200
O SOENISHSE S22 FHIAY
167,000,000 167,000
= 100,000
= 33,500
Al 33,500
g4 SIS FMAML(EX) 1,275,000 2,500,000 1,225,000
=S 637,500
Al 637,500
401 Al HIZ R 0HbI 1,275,000 2,500,000 1,225,000
== 637,500
Al 637,500
01 Al&HI 1,271,558 2,491,000 1,219,442
O22AXT NISs4+E EXAL
575,000,000 *99.73% 573,448
= 287,500
Al 285,948




FA EEAEA
B Sl
Cl: BIBR2EHIAY (B4 TAIY S8 (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEXT 0ISsi+E ZXAL
700,000,000 *99.73% 698,110
= 350,000
Al 348,110
03 AIESTHYI 3,442 9,000 A5,558
O8N OI25H4E EXIAY
1,552,000 1,552
OUIEXT IISsi+E EXAIL
1,890,000 1,890
23X ot==2t2 JHlAl 167,000 400,000 233,000
= 100,000
& 33,500
Al 33,500
401 AlZHIZ SO 167,000 400,000 233,000
= 100,000
< 33,500
Al 33,500
01 Al&H| 167,000 400,000 /233,000
O23X+ ot+=22Z UL
167,000,000 167,000
= 100,000
== 33,500
Al 33,500
KIStAIE = KIEHE AL 32,000 53,000 /21,000
= 6,400
Al 25,600
401 AIZHIZ S0 32,000 53,000 221,000
= 6,400
Al 25,600
01 A28l 32,000 53,000 /21,000
OXIEAIE = KIEHEA 32,000,000 32,000
=S 6,400
Al 25,600
WEX|Fotr2AZ HHIALS 650,000 0 650,000
401 AlEHIZL SO 650,000 650,000
01 Al&HI 645,905 645,905
OWEX T of=22 JHIAI
650,000,000 *99.37% 645,905
03 A2 2 0HYI 4,09 0 4,09
OuEX7 ote-2Z HIAIE
650,000,000& *0.63% 4,09
P23 3ot=HelAlE EXIAY 800,000 0 800,000
= 480,000
= 160,000

S
[




FA EEAEA
B Sl
Cl: BIBR2EHIAY (B4 TAIY S8 (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 160,000
401 AIEHIX 20 800,000 0 800,000
2 480,000
= 160,000
Al 160,000
01 Al&H| 798,160 0 798,160
OR2 S3ot=HelAld EXIA
800,000,000& *99.77% 798,160
= 480,000
= 160,000
Al 158,160
03 AIZSTHYI 1,840 0 1,840
OR2 S3ot=HelAld EXIA
1,840,000& 1,840
Y == o222 ZHIAY 600,000 0 600,000
= 360,000
S 120,000
Al 120,000
401 Al HIZ S OHbI 600,000 0 600,000
= 360,000
= 120,000
Al 120,000
01 AlZH| 598,620 0 598,620
Ok = o222 FHIAIY
600,000,000 *99.77% 598,620
2 360,000
= 120,000
Al 118,620
03 AIZ S THYI 1,380 0 1,380
e == ot-2Z ZHIAY
1,380,000 1,380
Y =S ZH 1,598,357 2,318,352 AT719,995
IH2IHI (St A SE3IH) 1,588,497 2,305,952 AT17,456
el 2d| 1,588,497 2,305,952 AT17,455
101 @124H| 1,264,613 1,982,084 NT17,471
01 &2 1,088,572 1,536,128 AN44T7 556
oJlzs 660,488
-ha(012¢9s) 6,978,000 «1& 128 83,736
S8(41e8) 5,054,700 x1&*1 5,095
o= 4,546,300 6H < 122 327,334
SC 3,439,200 x4H 123 165,082
8= 2,362,840 «2F~ 122 56,709
92 1,880,950 x1E12& 22,572
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SN BEAL
ZH: HY2AAY
CHR|: QI 2YH| (ol AIY SE3IH) EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OUsERH=¢ 14,479
58l 221, 17703 *x3H + 122 7,963
=18 B 180,990 *3F 122 6,516
oy=2se 78,649
&2 2,273, 1503 23| * 14H 63,649
22 12,840
200/ & 100,000 x6H 122 7,200
~10401 4~20401 8¢
80,0003 x4F 123 3,840
-5E 0| A~10E 0] 2t 50,0003 3123 1,800
2 FI K3 2,160
250 & 30,0003 «6H =123 2,160
OJE= 23,880
i =N 40,0003 *148 = 12& 6,720
- RIS 20,0003 x5 12& 1,200
SIS (HMAHA)
30,0003 =108« 12& 3,600
SN (EMR)
70,0003 *108 123 8,400
SAIF(AMOIFE )
110,000 3+ 12& 3,960
ORgz2f=g 2,400
R—E 50,0003 x4 12& 2,400
(O =ES=] 25,200
- ot=HelANEZ2 RN
150,000 *14H + 12& 25,200
OJl=g2Y 600
SRS el PSR el Fot =y
20,0002 12128 240
@olerEeIaY Ja
30,0003 *1H 123 360
Ox=222Y 91,749
= 12,5313 x6H+50Al 2t 123 45,112
= 11,3193 x4 H+50A| 2t 123 27,166
= 10, 1623 x2H+50A| 2t 123 12,195
‘9= 9,620 *1G+50Al 2H+ 123 5,772
SEEEEEt
12,5313 3 *4A| 2H+ 10 1,504
OFMZAH| 140,000 *14H + 12& 23,520
OYE It 2,727, 7803 *23] x 14H 76,378
OHIE 4| 651,630 x14H x 10! 91,229
03 SR (RIHL) 22X 176,041 321,987 A145,946
Otz ze|d (s A L) 70,601
2= 2,827,070 x 18 = 12& 33,925
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A SEARA
ZE: #S AL
Chel: oI HH|(St=Z Al SE3IH) (G2 &2l)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
22 2,827,070& *1H+23| 5,655
H2EoH3 80,0003 x 1+ 12& 960
IELY 3.240
BN 40,0002 1+ 128 480
-RAIE 20,0003 *1H 123 240
-22AIE(HM) 30,0003 x 1« 12& 360
~2ANE(SM) 70,0003 x 18« 12& 840
~SUAIE(ATHOIZRHS)
110,00024+ 1%+ 122 1,320
BAHIEDS Zoiay
150,000 x1H* 123 1,800
- HMUZAH| 170,000 x1Z 123 2,040
A=y 100,000 x 1= * 123 1,200
= 125,000 x1H» 123 1,500
- HEBNONS 1,696, 2402 *1H+23] 3,393
L eopE A 118,691 24 124% 102 1,187
Al2tel gt
23,0843 *15A1 2H=1H 123 4,1%
AA0Z 2,827,070 1 x30% 849
S2IREY 10,696
-H A2t 2 E| 205,680 x1H 52 10,696
O3RN (HEXHAUAR) 105,440
J|lE2s 2,531,820 2B+ 122 60,764
RERPCEINEEETIE)
2,531,820 2% +30% 1,520
&2 2,531,820 +2H *100% 5,064
- A2sEINRE 130,000 x2ZH 123 3,120
S RSES =y 120,000& x2% 123 2,880
EEEEEE
21,5082 +2H*15A 2Hx 128 7,776
UL (HARLN)
172,70221%2% 1524 5,184
- H gAY 140,000 42+ 122 3,360
S EIEEPs=
150,000& 2H + 122 3,600
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